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#AR ETINIZL B2 REAFA

## Example of prediction (AR model : m=15, k=1)

#

data(BLSALLFOOD)

#

BLS120 <- BLSALLFOOD(1:120]

z1 <- arfit(BLS120, plot = FALSE)

tau2 <- z1$sigma?

arcoef <- z1$arcoef

#incasem =15
ml <- z1$maice.order
f <- matrix(0.0e0, m1, m1)
f[1, ] <- arcoef[1:m1]
if (ml!=1)

for (i in 2:m1) f[i, i-1] <-1
g <- c(1, rep(0.0e0, m1-1))
h <- c¢(1, rep(0.0e0, m1-1))
q <- tau2[m1+1]
r <- 0.0e0
x0 <- rep(0.0e0, m1)
v0 <- NULL

sl <- tsmooth(BLS120, f, g, h, q, r, x0, vO, filter.end = 120, predict.end = 156)
sl

plot(s1l, BLSALLFOOD)
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#

# ARQ1) IC Xk 2 EREAFTA

#

BLS120 <- BLSALLFOOD[1:120]

z1 <- arfit(BLS120, plot = FALSE, lag=1)

tau2 <- z1$sigma?2

arcoef <- z1%arcoef

m1l <- z1$maice.order

UTokyo Online Education 2019 CC BY-NC-ND



R_code(8)_2019.txt

f <- matrix(0.0e0, m1, m1)
f[1, ] <- arcoef[1:m1]
if (ml1!=1)

for (i in 22m1) f[i, i-1] <-1
g <- c(1, rep(0.0e0, m1-1))
h <- c(1, rep(0.0e0, m1-1))
q <- tau2[m1+1]
r <- 0.0e0
x0 <- rep(0.0e0, m1)
v0 <- NULL

sl <- tsmooth(BLS120, f, g, h, q, r, x0, vO, filter.end = 120, predict.end = 156)
sl

plot(s1, BLSALLFOOD)

#

# ARR#E S (TROHDICEEHEZ D)

#

z1 <- arfit(BLSALLFOOD, plot=FALSE,lag=5)

HHBHSAH R R ARG H AR EH BB H R B R A HHB RS H BB SR B R B HHB RS HH R RS R BB HH B RS HH
#

# ARETNVIC K B RAMED A

#

## AR model (I=1, k=1) ARXIIIBEERTE

#

## Example of interpolation of missing values (AR model : m=15, k=1)

z2 <- arfit(BLSALLFOOD, plot = FALSE)

tau2 <- z2$sigma?

arcoef <- z2%arcoef

#in case m2 =15
m2 <- z2$maice.order
f <- matrix(0.0e0, m2, m2)
f[1, ] <- arcoef[1:m2]
if (m21=1)

for (i in 22m2) f[i, i-1] <- 1
g <- c(1, rep(0.0e0, m2-1))
h <- c(1, rep(0.0e0, m2-1))
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q <- tau2[m2+1]

r <- 0.0e0

x0 <- rep(0.0e0, m2)
v0 <- NULL

tsmooth(BLSALLFOOD, f, g, h, q, r, x0, v0, missed = c(41, 101), np = ¢(30, 20))

HHBHBHHHHBHBH B BB HHHHY
#

# ARX# 1 (TZDOHLODICEXZ B)

#

72 <- arfit(BLSALLFOOD, plot=FALSE,lag=1)
#

# ARXEL5

#

72 <- arfit(BLSALLFOOD, plot=FALSE,lag=5)
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